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HISTORY
( Major )

Paper : 5-1
( India under the East India Company )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer in one word or in one sentence : 1x7=7
a5t > J1 9Bl IS Te Al
(@) Who was the successor of Alivardi Khan,
the Nawab of Bengal?
WOPR AR SIeEm AR SRRl @
e 2

() Which Nawab of Bengal shifted the
capital from Murshidabad to Moonghyr?

R o1 TR i TR o RO
e (P IR 2
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(c)

(@)

(e)

(@)

(2)

During  which
ng : Governor-
?S;Zinést;atlon were the o;a?r;?r?;al’s
ed from their polj i
i eir police duties i
pla;; dpil;cé; police adrninis.tratiorzilxn iin;n
e hands of British officialg? ;i

CPTTE 69- (AT FRITer
;WW GOl mem
Q%WWW@M\F\W

391 (3fRE 2
Who was the ryl
( er of i i
perloc; of f;ll::‘e 2nd An;ir-uslilli)hdwmg 5
[%wq 91~ i
] N W M RIS T @

Why did the Khonds Revolt a

British in 18462 gainst the.
Sr8Y BTG (AR gy
fRfe 2 ¥R R Rearg

Name the tribes of ¢
revolted against thé

TASINOR TN 3 Wifie o
Who was Mangal Pans
TH Y (T 1fe o ’

hOta Na
4 gpur
Br1t1sh in 183IVh0

N =BT

2. Answer briefly :

siefre Taq i s

(a)

Mention the
year and
the

between whom
. t Partj
2 (0}
NI PO 7 375 .
2fee ? TS B oy 5
\9

(b) Write

(c) Mention any two results o

(d) Writ

(3)

any two characters of the

Ryotwari Settlement.

BRI rEd [ e o1 oR@ [ e

e
f the 4th

Anglo-Mysore War.
s—g‘aﬁw-ﬁ*ﬁwﬁ I o1 e ford |
e two significances of the Treaty of

Salbai, 1782.
S awa 579 DeE pRew ot G e

s on any three of the

Write short note
5x3=15

following :

o R T TofEm e o Bt o1 :

(@) Political condition of Bengal on the eve

of the Battle of Plassey
D A APl ITACRET RN

AT S
(b) The Treaty of Allahabad, 1765

yave 59 GoARIAM e

(c) The Treaty of Bassein, 1802
Svo] Hd @A E{“@

(d) Maharaja Ranjit Singh
e 36 R

(e) Doctrine of Lapse

e e
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(4)

4. Answer any three of the following : 10x3=30
e R GIeeT fofibt e T forey -

(@) What was the impact of Dyga] System of
administration in Bengal?

THCT® (7 *PH IR 2o f S1fReT 2

(b) What was the Subsidiary Alliance? How
far did the expansion of British Empire
in India become possible through this

system?
T M & wfee R WM anafy
W@iﬁimﬁm%mm@%?

(c) What were the cause
the Marathas?
TSP o] PR F wifee 9

(d) How did the Revenue Policy of the

British led to the rural indebtedness in
India?

s of the downfall of

() What do you
commercialization of
the British? What
Indian society and ec

Understanqg by
agricultyre under
as itg impact on

Onomy?
T PR A g
mmwﬁamww%zfﬁ;
“1fafeet 2 :

il Discuss the nature and
Mutiny of 1857,

wan%@ﬁ%WW
40| 2Ll

result of e

* ok A

A9—6000/213 % Bem-5) p11g 1 1



